

INVOICE

Date: 8/18/2023 Invoice # 009

Grant Awardee: Laurie Marshall 569 Lincoln St. Woodstock, VT 05091 To:

Town of Woodstock/EDC Housing Programs 31 The Green Woodstock, VT 05091

Payee Name	Grant Account	Payment Terms
Laurie Marshall	ADU Workforce Rental Incentive	Due within 7 days

Date	Description	Payment Due
8/18/2023	EDC ADU Workforce Rental First payment	\$2,130.69
	from \$10,000 available balance.	
	Total grant \$10,000	
	Total Payment Due:	\$2,130.69

Proof of Expenditures Submitted

Date	Description	Amount
8/18/2023	Home Depot - Multiple receipts for building materials: rebar, cement, plywood, insulation, tool blade & bits, lumber	\$2,130.69 To Be Paid
	Remaining balance available upon additional receipts or signed tenant lease	\$7,869.31

Grant Payment Timing: EDC will pay the incentive grant in up to four milestone payments as the construction progresses. Owner will provide copies of invoices, bills and/or receipts to justify each milestone payment. Final payment (25%) will be held until the fully executed lease with a tenant for the ADU is in place by the Owner.

8/18/23, 11:22 AM The Home Depot



Date Ordered: May 11, 2023

Order Number: WB45570747

Order Total: \$47.84

Pick up in Store

Picked up at

W Lebanon 296 Plainfield Rd West Lebanon, NH 03784

Product Information

Item	Qty	Price
WeatherShield 2 in. x 4 in. x 8 ft. 1 Ground Contact Pressure-Treated Southern Yellow Pine Lumber	8 \$5.98/item	\$47.84

Model # 253941

Store SKU # 1001787122

Payment Information

Billing Address	Payment Details	
Laurie R Marshall	Subtotal	\$47.84
569 Lincoln St	Scheduled Delivery	
Woodstock, VT 05091	Sales Tax	\$0.00
Payment Method	Order Total	\$47.84
Visa Ending in 4168		

8/18/23, 11:17 AM The Home Depot



Date Ordered: June 27, 2023

Order Number: WJ35652121

Order Total: \$1,701.88

Scheduled Delivery

Delivered to

Laurie R Marshall 569 Lincoln St Woodstock, VT 05091

Product Information

Item	Qty	Price
Weyerhaeuser 1/2 in. x 10 ft. #4 Rebar Model # 05366 Store SKU # 427969	60 \$6.71/item	\$402.60
Unbranded 94 lb. Portland Cement Model # 112494 Store SKU # 169846	35 \$19.77/item	\$691.95
Basalite 16 in. x 8 in. x 8 in. Concrete HW STD Block Model # 100016145 Store SKU # 938076	192 \$2.25/item	\$432.00

Payment Information

illing Address Payment Details		
Laurie R Marshall	Subtotal \$1,526.55	
569 Lincoln St	Shipping	

8/18/23, 11:17 AM The Home Depot

Woodstock, VT 05091

Payment Method

Sales Tax \$96.33

Visa | Ending in 4168

Order Total \$1,701.88

8/18/23, 11:24 AM The Home Depot



Date Ordered: June 27, 2023

Order Number: WG36435442

Order Total: \$101.72

Returned Items

Product Information

Item	Qty	Price
Makita IMPACT XPS T30 Torx 1 in. Insert Bit (5-Pack) Model # E-00658 Store SKU # 1004757688	2 \$6.97/item	\$13.94
Milwaukee SHOCKWAVE Impact Duty 1 in. T20 Torx Alloy Steel Insert Bit (2-Pack) Model # 48-32-4414 Store SKU # 692205	2 \$4.47/item	\$8.94

Ship to Home

Delivered to

Laurie R Marshall 569 LINCOLN ST Woodstock, VT 05091

Product Information

Item	Qty	Price
DIABLO 9 in. 4/6 TPI Demo Demon Bi-Metal Reciprocating Saw Blades for Nail-Embedded	2 \$19.97/item	\$39.94

8/18/23, 11:24 AM The Home Depot

Wood Cutting (5-Pack) Model # DS0912BW5 Store SKU # 296569

Ship to Home

Delivered to

Laurie R Marshall 569 LINCOLN ST Woodstock, VT 05091

Product Information

Item	Qty	Price
Milwaukee SHOCKWAVE Impact Duty 1 in. Phillips #2 Alloy Steel Insert Bit (5-Pack) Model # 48-32-4601 Store SKU # 404383	1	\$7.47

Ship to Home

Delivering to

Laurie R Marshall 569 LINCOLN ST Woodstock, VT 05091

Product Information

Item	Qty	Price
Milwaukee 12 in. 5 TPI Wood Cutting SAWZALL Reciprocating Saw Blades (10-Pack)	1	\$38.87
Model # 48-00-5037-10X Store SKU # 1002815304		
Milwaukee SHOCKWAVE Impact Duty 1 in. T25 Torx Alloy Steel Insert Bit (15-Pack) Model # 48-32-5014	1	\$10.97

8/18/23, 11:24 AM The Home Depot

Store SKU # 1001768469

Milwaukee 12 in. 5 TPI Thin Kerf Wood Cutting SAWZALL Reciprocating Saw Blades (5-Pack)

(5-Pack) Model # 48-00-5037 2 \$0.00/item \$0.00

Model # 48-00-5037 Store SKU # 957925

Payment Information

Billing Address Payment Details

Laurie R Marshall 569 LINCOLN ST

Woodstock, VT 05091

Payment Method

Visa | Ending in 4168

Subtotal _____ \$97.25

Shipping

Scheduled Delivery

Sales Tax \$4.47

Order Total \$101.72

8/18/23, 11:20 AM The Home Depot



Date Ordered: July 29, 2023

Order Number: WJ37664547

Order Total: \$279.25

Pick up in Store

Picked up at

W Lebanon 296 Plainfield Rd West Lebanon, NH 03784

Product Information

Item	Qty	Price
Owens Corning FOAMULAR NGX F-250 2 in. x 4 ft. x 8 ft. SSE R-10 XPS Rigid Foam Board Insulation Model # 52DDNGX Store SKU # 1006240690	5 \$50.76/item	\$253.80
Unbranded 15/32 in. x 4 ft. x 8 ft Sheathing Plywood (Actual: 0.438 in. x 48 in. x 96 in.) Model # 20159 Store SKU # 915378	1	\$25.45

Payment Information

Billing Address	Payment Details	
Laurie R Marshall	Subtotal	\$279.25
569 Lincoln St Woodstock, VT 05091	Scheduled Delivery	
	Sales Tax	\$0.00

8/18/23, 11:20 AM The Home Depot

Payment Method

Order Total

\$279.25

Visa | Ending in 4168